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E; Hodule: Selftest
E> THIS MODULE 15 INTEMDED TO RUN 1H BANK 1
i3 FUNCTION: MtrSpd
;2 FUNCTION: TrackCount
e FUHCTION: ScirCount
;® FUNCTION: RuwTest
-
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.FIN
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Fin
SelfTest: Tm Excpt_Stat, #PwrRst ;check for power reset
Jr Z,5T Mtrspd
Ld ird, Sor_Onir otherwise finish time on disk speed
{r Ird, Sor_Cntr+d
Jr 2, 5T_MirsSpd
Ld Ir2, Scr_Cntr
Ld Ir3,5cr _Cntr+1
Cali fishait
ST MirSpd: Call MirSpd
Jr Nz, 51 f_1eque
And SifTst_Resuit, #$FF-Disk_Speed
Sif_Tracks: Call TrackCount
And S1fTst_Result, #FF-Sarvo_Fail
Sl Sectors: Call Sctrlount
Jr Mz,Sif_Leave
And S1fTsi_Result,#§FF-Sector_Cnt
Sif_State: Call Load_Status ;check state machine static state
And ird, #/Mack
Jr Hz,511 leqaue
- And SifTst_Result #$FF-State_Fail
Sif_RuTest: Cail FwTest ;see if we can read aond write
Jr Z,51f Lleave
find Sifist_Result,®§FF-Rw_Fail
Zif_Legue: Jp Bank _Fet
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Outputs:
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MirSpd: find
Cir
Cir
td
Cir
Call

HirSpd_1: m
Jr

fArd
Call

MirSpd_lp: m
,_hp.
{ncy
Decw
Jr

HirSpd_ End: Ld
Ld
Ld
id
Ld
Call
.LSTOFF
.DO
CLSTON
id
Cp
Ji
Cp
Jir
id
FiH
.00
.LSTON
Ld
Cp
Jr
Cp

Inputs: { none }

MirSpd :
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Function: MirSpd { Motor Speed }
This function is responsible for measuring the motor

¥
by

>

>

>

¥ speed. This is done by timing the interual between
» consectutive index marks.
>

b

>

*

>

BOOLEAN { zero flag NOT set if failure }

internal

lrq, #FF-1lrg_Index ;clear old event

tr

iri ;clear counter

ird #16 ;load dead man timer

r3

Seibmt entering criteal section - don’ i hangup!

irq,#lrg_Index ;wait for index to come around
2, Mtr8pd_1

irq, #§FF-trgq_lndex-irq. Sector clear events
Cirbmt ; leave criical section

Irg,®#lrg_index ;waii for one rev

Nz, HtrSpd_End

Hrd ;.0142 msfip or 7.4 cnis/ms
tird

Mz, HirSpd_ip

irg, iri

rD, 1r0

Ir,®0

1r2, % HIBYTE. Divs_19

103,% LONBYTE. Div3_19

Bank_Call ;get speed within tolerence in Ir2

H_10ME

Ir0,#1 ;gssume failure

1r2,%$44 accepts speeds between 18.5 ms and
L, MirSpd_iw

ir2, %440

Gt MirSpd Le

tr, ¥ ;otherwise pass

[
[
4]

m=

W_20MB+I_40MB

e, %1 assume failure

1r2, %348 ;accepts speeds between 18.5 ms and 20.5 ms
L, MirSpd_tu “
Ir2, #5340



Jr - Gt HirSpd div
Ld ir0,#2 ;otherwise pass
FiN

HirSpd_lLv: Or rQ, Ir0 ;set flags
, Ret
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07 Function: TrackCount
0y
;2 This function is responsible for counting the number of
i3 tracks that are auailable on the servo.
¥
;> Inputs: { none }
iy Outputs:
;? TrackCount : BODLEAN { zero fiag HOT set if failure }
;5 Aligorithm:
1
5 BEGIN
;¥ Restore! FormatRecal »
;2 Seak{ Cyi=0 3
;e END
;?
RIS S5 3 S5 H RS S S S 33 ST 5
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Tracklount: ‘
Ld ir2,# HIBYTE. ResaiSaruo
Ld r3,® LOUBYTE. ResetServo

Call Bank_Call ;try to get the servo in q nice state

And DiskStat, #$FF-RdHdrRecal [don’t read any headers!

id trd, #DataRecal

Ld Ir2, ¥ HIBYTE. Restore
Ld Ir3,# LOUBYTE. Restore
Call Bank_Call

Ld vl ®0 cylinder = O
id irD, #$69

td IrE,#0 ;head = O

Ld irF, %) ;zector = 0

td 2, # HIBYTE. Seek

Ld ip3, # LOUBYTE. Sesk
Catl Bank_Lall
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¥

>

» Function: SctrCount

Y

E This function counts the number of sector marks between
> successive index marks and returns q true value if

the number of sectors counted equals HborSctrs.

Inputs: { none }

Outputs:
SctrCount : BOOLEAN { zero flag is set if true }
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Fin
Scirfount:

Cir Ir2 ;count =11

And Irq, #®$FF-1rq_index clear old index marks
S Cnt_i: Tm irg,®lrg_index ;wait for index mark

Jr 2,5 Lnt_1

And irq,#lrg_lndex-lrqg_Sector ;ciear old esvenis
S Ent_3: Tm Port2, #indextark ;Hhile NOT( fndex }

Jr Nz,5_Lnt_End

Tm lrq,#irg_Sector

Jr £,5Cnt 3

tnc 'r2 ;bump the sector count

find irq, #$FF-1rg_Sector

Jr S Lnt 3
S_Cnt_End: Cp ir2, #NbrSctrs

Rat
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E> Function: RBwTest
;v
;2 This test moves the heads over a track awagy from the data
;® area | useable doata area } and performs a write verify
b on block zero of that track. if a failure occurs, the test
pp will continue on the next sequentiagl sector on that track
;¥ until all sectors hove been written io. If there are no
i F successTul transfers on any of the sectors of this track then.
JF the test is gssumed to have failed.
;?
;¥ inputs: { none }
D
;2 Dutputs:
3 BwTest : BOOLEAN { zero flag set if foilure }



"

;2 Algorithm:
;}
;2 BEGIN
i Seek{ RwTest track >
5 REPEAT
;¥ IF NOT{ Hrler _Lommon » AND ¢ RdErrCnt = 10 3
;2 THEN
3 F Sector = Sector + 1
i3 IF { Sector » NbrScirs
s THEN Done := True
S ELSE Done := True
i UNTIL Done
;7 {F { Sector » NHbrScirs
iy THEN RwTest .= False
;¥ ELSE RuwTest := Trus
b END
2>>>>}}>>>>}>>>>>>>>>>>}>>>}>>>>>>
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Fwlest:
or BiskStat, ®RdHdrRecal
Ld tr{, #0ataRecali
Ld ir2,# HIBYTE. Restore
Ld r3, % LOWBYTE. Restore
Call Bank_Calil
Ld Ir5, %0
Push Excpt Stat ;save state
J Z,RwTest _End
Pop Excpt _Stat
PuTestl: Push Excpt_Stat
Or Excpt_Stat,®Recovery ;let the controlier recover srrors
Ld trl, #Tst_HiCyl
td irh, #Tst Loyl
Ld IrE, #T=t_Head
Ld IrF,¥Tst _Sctr
Call Hew_Seel
Ld Ir3, #MbrSctrs
RuwTest ip: Ld Y2, # HIBYTE. Zero_Header
1 Ir3, % LONBYTE. Zero_Header
Call Bank_Call
Push Ir3
Or DiskStat, #ir_0p
Ld Ir2,% HIBYTE. WrBlk Vector
id 13, % LOUBYTE. WrBlk _Uscior
call Bark_Call
Fop IrS
Jr Z,Rw_HNext
Ld RdErrlni,®10 ;assume a failure
Push irg

find OiskStat, #§FF-Hr_Op



Ld irZ,# HIBYTE. RdBlk_Vector

Ld ir3,# LONBYTE. RABIK Vector
cail Bank_Call
Pop tr3
Jr Nz ,RwTest_End
Tm irdt, #RdNoHdrFnd
Jr Nz, Rw_Hext
id Ir,RdErrCnt
And i, #40F mask of f unwonted status
Cp ir0,®10
Jr Mz,RwTest_End
Buw_HNext: Inc Sector

Binz Ir5, RuTest Lp

RuTest_End: Ld Ir2,% HIBYTE. Park_Heads
id 'r3,# LOWBYTE. Park_Heads
Call Bark_Call
Fop Exept_Stat ;recover original exception state
Or ir5,1r3 ;set zero flag
Ret
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